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FLOWER

Multiple Choice

1. For surrival of race which is the most important

part of the plant

A. Flower


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_I3pPS0KMQZtn

B. Root

C. Leaf

D. Stem.

Answer: A

° Watch Video Solution

2. The flower with a stalk is

A. Pedicellate

B. Petiolate

C. Sessile


https://dl.doubtnut.com/l/_I3pPS0KMQZtn
https://dl.doubtnut.com/l/_mRchcnb5P7yz

D. Subsessile.

Answer: A

° Watch Video Solution

3. The floral orgens arise from

A. Mother axis

B. Thalamus

C.Root

D. Pedicel.

Answer: B


https://dl.doubtnut.com/l/_mRchcnb5P7yz
https://dl.doubtnut.com/l/_AXWE7GMpxfxp

° Watch Video Solution

4. Flower with all the four types of floral organs is

A. Regular

B. Irregular

C. Complete

D. perfect.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AXWE7GMpxfxp
https://dl.doubtnut.com/l/_vSI6RXlS143X

5. Flower with both the types of sexual floral organs

is

A. Complete

B. Perfect

C. Incomplete

D. Dimorphic

Answer: B

o Watch Video Solution

6. Calyx wih free components is


https://dl.doubtnut.com/l/_3BKBvF2RC1fd
https://dl.doubtnut.com/l/_1Shr8BBiVIHk

A. Gamosepalous

B. Polypetalous

C. Polysepalous

D. Gamopetalous

Answer: C

o Watch Video Solution

7. Modified hairy calyx is

A. Pappus

B. Perianth


https://dl.doubtnut.com/l/_1Shr8BBiVIHk
https://dl.doubtnut.com/l/_v3DHxoke2h6S

C. Epicalyx

D. Accrescent

Answer: A

o Watch Video Solution

8. Small sized sessile, flower is

A. Incomplete

B. Floret

C. Imperfect

D. Translator


https://dl.doubtnut.com/l/_v3DHxoke2h6S
https://dl.doubtnut.com/l/_GIzI6e9jw637

Answer: B

° Watch Video Solution

9. Aestivation in the corolla of Pisum sativum is

A. Quincuncial imbricate

B. Descenidng impbricate

C. Ascending imbricate

D. Contored

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GIzI6e9jw637
https://dl.doubtnut.com/l/_Wzszfsc22a3k

10. Corolla with four diagonally arranged petals is

A. Vexillary

B. Cruciform

C. Gamopetalous

D. Caryophyllaceous.

Answer: B

0 Watch Video Solution

11. Androecium is the whorl of


https://dl.doubtnut.com/l/_Wzszfsc22a3k
https://dl.doubtnut.com/l/_RuIj7P7El1Ay
https://dl.doubtnut.com/l/_8wp6bhNyvTVK

A. Anthers

B. Stamens

C. Fillaments

D. Tepals

Answer: B

o Watch Video Solution

12. Stamens which arise from petals are called

A. Epipetalous

B. Alternipetalous


https://dl.doubtnut.com/l/_8wp6bhNyvTVK
https://dl.doubtnut.com/l/_USfz6FkbRfVV

C. Antipetalous

D. Quincuncial

Answer: A

o Watch Video Solution

13. In Hibiscus rosa-sinensis there is an additional

floral whorl known as

A. Calyx

B. Involucre

C. Epicalyx


https://dl.doubtnut.com/l/_USfz6FkbRfVV
https://dl.doubtnut.com/l/_P1CdTM9N0VOD

D. Obdiplostemonus layer

Answer: C

° Watch Video Solution

14. If the filaments are fused in a single group, the

condition is

A. Monandrous

B. Monadelphous

C. Polyadelphous

D. Polyandrous


https://dl.doubtnut.com/l/_P1CdTM9N0VOD
https://dl.doubtnut.com/l/_xbTLb7EmADhc

Answer: B

° Watch Video Solution

15. Diadelphous androecium has filaments fused in

A. One group

B. Tow groups

C. Many groups

D. Two areas, upper and lower

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xbTLb7EmADhc
https://dl.doubtnut.com/l/_yFf233LKIbY8

16. Androecium having dissimilar stamens is

A. Unequal

B. Heterostemonous

C. Diplostemonous

D. Obdiplostemonus

Answer: B

0 Watch Video Solution



https://dl.doubtnut.com/l/_yFf233LKIbY8
https://dl.doubtnut.com/l/_pzJrL5PjMNtR

17.If the stamens can swing freely on the filament,the

condition is called

A. Basifixed

B. Dorsifixed

C. Versatile

D. Adnate

Answer: C

o Watch Video Solution

18. The whorl of carpels is


https://dl.doubtnut.com/l/_vDEAMapx3mH2
https://dl.doubtnut.com/l/_BvXo8CeFypHs

A. Androecium

B. Gynoecium

C. Pistil

D. Gynostegium

Answer: B

o Watch Video Solution

19. Syncarpous gynoecium has two or more

A. Free carpels

B. fused carpels


https://dl.doubtnut.com/l/_BvXo8CeFypHs
https://dl.doubtnut.com/l/_JUSk8mW14n1b

C. Free overies

D. Free stigmas

Answer: B

o Watch Video Solution

20. Placentation is arrangement of

A. Ovules

B. Sepals and petals

C. Stamens and carpels

D. Carpels


https://dl.doubtnut.com/l/_JUSk8mW14n1b
https://dl.doubtnut.com/l/_z5D2o1LBrGry

Answer: A

° Watch Video Solution

21. Ovary with one chamber is

A. Monocarpellary

B. Bilocular

C. Unilocular

D. Uniovuled

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_z5D2o1LBrGry
https://dl.doubtnut.com/l/_F6QECX7SOxI0

22. Placentation of Pea flower is

A. Parietal

B. Marginal

C. Axile

D. Superficial

Answer: B

0 Watch Video Solution

23. Basal placentation occurs in an ovary which is


https://dl.doubtnut.com/l/_F6QECX7SOxI0
https://dl.doubtnut.com/l/_r8fZQESQgUM1
https://dl.doubtnut.com/l/_2DiZhZWg6WsR

A. Unilocular

B. Bilocular

C. Multilcoular

D. Lateral.

Answer: A

o Watch Video Solution

24, Axile placentation is found in

A. Cassia fistula

B. Hibiscus rosa-sinensis


https://dl.doubtnut.com/l/_2DiZhZWg6WsR
https://dl.doubtnut.com/l/_KBYBMmgqBjT2

C. Helianthus annuus

D. Dalbergia sisso

Answer: B

o Watch Video Solution

25. Inferior ovary is present in

A. Hypogynous

B. Epigynous

C. Perigynous

D. Hypo-perigynous


https://dl.doubtnut.com/l/_KBYBMmgqBjT2
https://dl.doubtnut.com/l/_83QwjOxxOEHX

Answer: B

o Watch Video Solution

26. A flower having both sepals and petals is

A. Achlamydeous

B. Dichlamydeous

C. Monochlamydrous

D. Diclinous

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_83QwjOxxOEHX
https://dl.doubtnut.com/l/_dhgLW1PB7uDW

27. Flower with both the sex orgens is

A. Intersexual

B. Bithecous

C. Didynamous

D. Diplostemonous

Answer: A

0 Watch Video Solution

28. Non-functional stamens are called


https://dl.doubtnut.com/l/_dhgLW1PB7uDW
https://dl.doubtnut.com/l/_zHNsErKq0x1c
https://dl.doubtnut.com/l/_yFePyy1ftksd

A. Accessory stamens

B. Staminodes

C. Supplementary stamens

D. Staminates

Answer: B

o Watch Video Solution

29. Flower with floral organs in five circles is

A. Pentamerous

B. Pentacyclic


https://dl.doubtnut.com/l/_yFePyy1ftksd
https://dl.doubtnut.com/l/_zneENBdaJdn5

C. Pentalocular

D. Obdiplostemonous

Answer: B

o Watch Video Solution

30. Monothecous stamens are found in

A. Sunflower

B. Pea flower

C. Shoe flower

D. Mustard


https://dl.doubtnut.com/l/_zneENBdaJdn5
https://dl.doubtnut.com/l/_WPxfgGGjvCUg

Answer: C

° Watch Video Solution

31. Diplostemonous androecium occurs in

A. Silene

B. Murraya

C. Asparagus

D. Brassica

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WPxfgGGjvCUg
https://dl.doubtnut.com/l/_srMCrgt9Jd3A

32. Epiphyllous stamens arises from

A. Petals

B. Perianth lobes

C. Sepals

D. Epicalyx

Answer: B

0 Watch Video Solution

33.In Leguminosae, the odd sepal is


https://dl.doubtnut.com/l/_srMCrgt9Jd3A
https://dl.doubtnut.com/l/_KS03Dv4UOHBP
https://dl.doubtnut.com/l/_VDKMUIiGMdXx

A. Anterior

B. Posterior

C. Laterior

D. Median

Answer: A

o Watch Video Solution

34.0One chambered overy has ovules brone on a long
placenta attached to wall in the region of ventral

suture. It is

A. Superficial


https://dl.doubtnut.com/l/_VDKMUIiGMdXx
https://dl.doubtnut.com/l/_kgq2FSkHaqBx

B. Basal

C. Marginal

D. Parietal

Answer: C

° Watch Video Solution

35. A flower with a beak is

A. Rosaceous

B. Spurred

C. Ornithophilous


https://dl.doubtnut.com/l/_kgq2FSkHaqBx
https://dl.doubtnut.com/l/_mBI89gUpUYX1

D. Ornithochorous

Answer: B

° Watch Video Solution

36. Adhesion in a flower is

A. Union of dissimilar parts

B. Union of similar parts

C. Aggergation of similar parts

D. Aggergation of dissimilar parts

Answer: A


https://dl.doubtnut.com/l/_mBI89gUpUYX1
https://dl.doubtnut.com/l/_wTQRDVKl8xUF

o Watch Video Solution

37. Petals are connate when they are

A. Polypetalous

B. Fused completely

C. Fused upto half

D. Fused only at the base

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wTQRDVKl8xUF
https://dl.doubtnut.com/l/_hIvtmSDLltI3

38. Stamens do not protrude out of corolla The

condition is

A. Introrse

B. Extrorse

C. Exserted

D. Inserted

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_e4Wg9iFPIvsq

39. Anthers dehisce longitudinally towards the side of

carpels The condition is

A. Introse

B. Extrose

C.Innate

D. Centripetal

Answer: A

o Watch Video Solution

40. A monothecous stamen has


https://dl.doubtnut.com/l/_a65kA6wG7UPU
https://dl.doubtnut.com/l/_zlT9zzlDId8a

A. Small anther

B. Sterile anther

C.One lobed anther

D. One chambered anther

Answer: C

o Watch Video Solution

41. The descending imbricate aestivation is also

called

A. Caryophyllaceous


https://dl.doubtnut.com/l/_zlT9zzlDId8a
https://dl.doubtnut.com/l/_KLFzB5qO3t2W

B. Vexillary

C. Rosaceous

D. Mimosaceous

Answer: B

° Watch Video Solution

42.Floret is

A. Small fruit

B. Small flower

C. Small sessile flower


https://dl.doubtnut.com/l/_KLFzB5qO3t2W
https://dl.doubtnut.com/l/_Lih5GyGldTd7

D. Small neuter flower

Answer: C

° Watch Video Solution

43. Individual members of perianth are called

A. Bracteoles

B. Bracts

C. Spathes

D. Tepals

Answer: D


https://dl.doubtnut.com/l/_Lih5GyGldTd7
https://dl.doubtnut.com/l/_7Q7FN9Lmu5Iv

° Watch Video Solution

44, A dioecious plant has

A. Bisexual flower

B. Either male or female flower

C. Both male and female flower

D. Bisexual and neutral flower

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7Q7FN9Lmu5Iv
https://dl.doubtnut.com/l/_0zZB4V1fb5WR

45, Main role of flower is to

A. produce offspring

B. Produce hormones

C. Attract insects

D. Secrete honey

Answer: A

O Watch Video Solution

46. Anthers are fused and filaments are free in


https://dl.doubtnut.com/l/_YveY4rLvixlz
https://dl.doubtnut.com/l/_YAwD7RCm2n4T

A. Sunflower

B. Gossypium

C. Murraya

D. petunia

Answer: A

o Watch Video Solution

47.In Shoe Flower/Chine Rose

A. Anthers are fused

B. Filaments are fused in a single mass


https://dl.doubtnut.com/l/_YAwD7RCm2n4T
https://dl.doubtnut.com/l/_A1r4owMRUXHv

C. Filaments are fused to form many groups

D. All the stamens are free

Answer: B

° Watch Video Solution

48. Placenta of a flower is a tissue that

A. From pollen grains

B. Attaches stamens with corolla/ sepals tepals

C. Bears ovules

D. Bears corona


https://dl.doubtnut.com/l/_A1r4owMRUXHv
https://dl.doubtnut.com/l/_p7QwvKnkrQ19

Answer: C

° Watch Video Solution

49, Perianth refers to

A. Nonessential floral organs

B. Essential floral organs

C. Fused stamens and carpels

D. Undifferentiated calyx and corolla

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_p7QwvKnkrQ19
https://dl.doubtnut.com/l/_xrR7BjdD3RDq

50. Funnel- shaped corolla is called

A. Campanulate

B. Urecolate

C. Rotate

D. Infundibuliform

Answer: D

0 Watch Video Solution

51.In Solanum nigrum, the gamopetalous corolla is


https://dl.doubtnut.com/l/_xrR7BjdD3RDq
https://dl.doubtnut.com/l/_8XpKQdAVzRsS
https://dl.doubtnut.com/l/_tRI1LXYiBYJa

A. Rotate

B. Tubular

C. Companulate

D. Globose

Answer: A

o Watch Video Solution

52. Cruciform corolla is that where

A. Five fused petals

B. Five free sessile petals


https://dl.doubtnut.com/l/_tRI1LXYiBYJa
https://dl.doubtnut.com/l/_1HnrwFOp0gsJ

C. Four diagonally placed clawed petals

D. Four medianly and laterally placed clawed

petals

Answer: C

o Watch Video Solution

53. Four stamens, two short and two long. Constitute

the condition called

A. Tetradynamous

B. Didynamous


https://dl.doubtnut.com/l/_1HnrwFOp0gsJ
https://dl.doubtnut.com/l/_NHtTeB4W1I1B

C. Diadelphous

D. Diplostemonoous

Answer: B

o Watch Video Solution

54. Gynoecium having a number of free carpels is

A. Syncerpous

B. Apocerpous

C. Polycerpellary

D. Syngenesious


https://dl.doubtnut.com/l/_NHtTeB4W1I1B
https://dl.doubtnut.com/l/_cLj1TaenvhH3

Answer: B

° Watch Video Solution

55. Gynoecium with fused carpels

A. Syncarpous

B. Syngenesious

C. Sympatric

D. Cleistocarpic

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cLj1TaenvhH3
https://dl.doubtnut.com/l/_cNUsPHHRWPmO

56. A style arises from the central depression of four

lobed ovary . It is

A. Lateral

B. Terminal

C. Gynobasic

D. Centric.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cNUsPHHRWPmO
https://dl.doubtnut.com/l/_WQ7JTzFs59b7

57. In a syncarpous unilocular ovary, ovules develop

from two opposite lines on the wall . The

placentation is

A. Superficial

B. Marginal

C. Axile

D. Perietal

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VyDA7a6VdjTA

58. In a unilocular ovary the ovules develop from all

over the wall. The placentation is

A. Superficial

B. Marginal

C. Free central

D. Parietal

Answer: A

o Watch Video Solution

59. An intersexual flower has


https://dl.doubtnut.com/l/_46562gWgKMjC
https://dl.doubtnut.com/l/_47lVmWAec0Uc

A. No nonessential floral whorl

B. No essential floral whorl

C. Both the essential floral whorls

D. All the floral whorls

Answer: C

° Watch Video Solution

60. Stamen represents

A. Microsporophyll

B. Microsporangium


https://dl.doubtnut.com/l/_47lVmWAec0Uc
https://dl.doubtnut.com/l/_cEzFb5A40Vnl

C. Megasporangium

D. megasporophyll.

Answer: A

° Watch Video Solution

61. The conditon of stamens being adnate to tepals is

A. Episepalous

B. Epipetalous

C. Epiphyllous

D. Synantherous


https://dl.doubtnut.com/l/_cEzFb5A40Vnl
https://dl.doubtnut.com/l/_4pUJ3KQ18nik

Answer: C

° Watch Video Solution

62. A pistillate flower does not possees

A. Corolla

B. Androecium

C. Calyx

D. Gynostegium

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4pUJ3KQ18nik
https://dl.doubtnut.com/l/_VsWQwTxxacDC

63. Study of flowers is

A. Anthology

B. Pomology

C. Floriculture

D. Spermology

Answer: A

0 Watch Video Solution

64.In synandrous condition, there is fusion of


https://dl.doubtnut.com/l/_VsWQwTxxacDC
https://dl.doubtnut.com/l/_hSf3YrzvyvRs
https://dl.doubtnut.com/l/_oehIzl4ekEvH

A. Filaments only

B. Both filaments and anthers

C. Anthers only

D. Anther tips only

Answer: B

o Watch Video Solution

65. An epigynous flower is characterised by

A. Inferior ovary

B. Superior ovary


https://dl.doubtnut.com/l/_oehIzl4ekEvH
https://dl.doubtnut.com/l/_Bp9UwGtpn5WN

C. oblique ovary

D. Half superior and half inferior ovary

Answer: A

° Watch Video Solution

66. Anthophore is an internode between

A. Two opposite leaves in spiral phyllotaxy

B. Calyx and corolla

C. Corolla and androecium

D. Androecium and gynoecium


https://dl.doubtnut.com/l/_Bp9UwGtpn5WN
https://dl.doubtnut.com/l/_cARjbNARNj7f

Answer: B

o Watch Video Solution

67. The elongated part of thalamus between corolla

and androecium is called

A. Anthophore

B. Gynophore

C. Gynandrophore

D. Androphore

Answer: D



https://dl.doubtnut.com/l/_cARjbNARNj7f
https://dl.doubtnut.com/l/_8TH5Kj7Gobqf

| ¥ Watch video Solution

68. Keel is the characteristic of the flower of

A. Bean Cassia

B. Cassia

C. Gulmohr

D. Calotropis

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8TH5Kj7Gobqf
https://dl.doubtnut.com/l/_XJ5uh0lE3guz

69. Name the condition when anthers are united

together but the filaments are free

A. Gynandrous

B. Monadelphous

C. Syngenesious

D. Syncarpous

Answer: C

o Watch Video Solution

70. The fourth whorl of flower is of


https://dl.doubtnut.com/l/_HQMtKYPfJ632
https://dl.doubtnut.com/l/_g4cPMO7Iq7Pn

A. Petals

B. Stamens

C. Carpels

D. Sepals

Answer: C

o Watch Video Solution

71. Occurrence of a single ovule in an overy towards
the upper end of its cavity produces a placentation

called

A. Basal


https://dl.doubtnut.com/l/_g4cPMO7Iq7Pn
https://dl.doubtnut.com/l/_g068B9Rd8Maw

B. Apical

C. Marginal

D. Parietal

Answer: B

o Watch Video Solution

72. Parts of the flower that form seeds are

A. Anthers

B. Carpels

C. Pollen


https://dl.doubtnut.com/l/_g068B9Rd8Maw
https://dl.doubtnut.com/l/_IS29ulBoS4og

D. Ovules

Answer: D

° Watch Video Solution

73. Axile placentation is seen in

A. China Rose

B. Sunflower

C. pea

D. Ranunculus

Answer: A


https://dl.doubtnut.com/l/_IS29ulBoS4og
https://dl.doubtnut.com/l/_xmXcImqVUC4o

o Watch Video Solution

74. Fixation of anther in which filament is attached to

its whole length is

A. Basifixed

B. Versatile

C. Dorsifixed

D. Adnate

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_xmXcImqVUC4o
https://dl.doubtnut.com/l/_n8ahVJmUyph7
https://dl.doubtnut.com/l/_3Vc0rI4eB1Kj

75. Lateral style is found in

A. Petunia

B. Mongo

C. Sunflower

D. Calotropis

Answer: B

° Watch Video Solution

76.Smallest flower belongs to


https://dl.doubtnut.com/l/_3Vc0rI4eB1Kj
https://dl.doubtnut.com/l/_3tVFr80TFbhP

A. Rose indica

B. Wolffia microscopica

C. Ranunculus scleratus

D. Colocasia antiquorum

Answer: B

o Watch Video Solution

77.The largest flower in the world is that of

A. Sunflower

B. Rafflesia


https://dl.doubtnut.com/l/_3tVFr80TFbhP
https://dl.doubtnut.com/l/_MVPUOstN7zrW

C. Nelumbo

D. Drosera

Answer: B

o Watch Video Solution

78. National flower of India is

A. Lotus

B. Rosa

C. Carica

D. Colocasia.


https://dl.doubtnut.com/l/_MVPUOstN7zrW
https://dl.doubtnut.com/l/_7zRFakL4OtJD

Answer: A

° Watch Video Solution

79. A flower is zygomorphic when

A. Any transverse section divides it into two equal

halves

B. Only one transverse section divides it into two

equal halves

C.Every vertical section passing through its

centre divides it into two equal halven.


https://dl.doubtnut.com/l/_7zRFakL4OtJD
https://dl.doubtnut.com/l/_nA4GVR9pIqRt

D.Only one vertical section passing through its

centre divides it into two equal halves .

Answer: D

° Watch Video Solution

80. Arrangement of sepals and petals with respect to

each other is

A. Venation

B. Vernation

C. Aestivation


https://dl.doubtnut.com/l/_nA4GVR9pIqRt
https://dl.doubtnut.com/l/_KCbqqcm2Zkbj

D. Phyllotaxy.

Answer: C

° Watch Video Solution

81. Tetradynamous condition is related to

A. Androecium

B. Inflorescence

C. Perianth

D. Gynoecium

Answer: A


https://dl.doubtnut.com/l/_KCbqqcm2Zkbj
https://dl.doubtnut.com/l/_rjjtqMnIePNq

o Watch Video Solution

82.The stamens are attached the petals in

A. Antipetalous

B. Epipetalous

C. Epiphyllous

D. Episepalous.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rjjtqMnIePNq
https://dl.doubtnut.com/l/_L7VutOi3FjvI

8. In unilocular ovary the ovules develop on the

inner wall of ovary . Placentation can be

A. Basal

B. Axile

C. Parietal

D. Free central.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hRJ9tucRaQUD

84. Papilionaceous flower with large vexillum covering

two wings and the wings covering the keel has

corolla aestivation of

A. Descending imbricate

B. Ascending imbricate

C. Twised

D. Vexillary.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_quVdtG4IodzI

85. A flower can be cut into two equal or identical

halves in any radial plane passing through the centre.

This flower will be

A. Zygomorphic

B. Hypogynous

C. Actinomorphic

D. Epigynous.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_asEPPCHmC4MB

86. In a typical flower, the ovary is superior and other

whorls are inferior. Such flower is said to be

A. Polygamous

B. Hypogynous

C. Perigynous

D. Epigynous.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QkSuqp4kk4Wd

87. Axis developing between

gynaecium is

A. Anthophore

B. Androephore

C. Gynophore

D. Gynandrophore

Answer: C

androecium

and

o Watch Video Solution



https://dl.doubtnut.com/l/_zBM6r3RBmTDd

88. An apocarpous ovary is that in which all carpels

are free. It is found in

A. Caesalpinnia

B. Ranunculus

C. Brassica

D. Datura.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hz4KfFzmoOYi

89. Part of the gynoecium which receives the pollen is

called

A. overy

B. Style

C. Stigma

D. Ovule.

Answer: C

o Watch Video Solution

90. Gynobasic style is found in


https://dl.doubtnut.com/l/_pDzETbhmwrs1
https://dl.doubtnut.com/l/_CW2o9D810r9H

A. Labiatae/Lamiaceae

B. Liliaceae

C. Gramineae/Poaceae

D. Compositae/Asteraceae

Answer: A

° Watch Video Solution

91. Tetradynamous condition is found in

A. Six stamens, two short and four long

B. Six stamens, two long and four short


https://dl.doubtnut.com/l/_CW2o9D810r9H
https://dl.doubtnut.com/l/_tildwb0dhrnn

C. Six stamens, two short in outer whorl and four

long in inner whorl

D. Four stamens, two short and two long in outer

and inner whorls respectively.

Answer: C

° Watch Video Solution

92. Give scientific terms for the following:
Plants having male and female flowers or sex organs

on the same plant.

A. Monoecious


https://dl.doubtnut.com/l/_tildwb0dhrnn
https://dl.doubtnut.com/l/_CfPIMhjgVqm9

B. Dioecious

C. Unisexual

D. Bisexual .

Answer: A

o Watch Video Solution

93. In Minosa pudica the placentation is

A. Basal

B. Marginal

C. Parietal


https://dl.doubtnut.com/l/_CfPIMhjgVqm9
https://dl.doubtnut.com/l/_0XFFOeKaONu6

D. Axile

Answer: B

° Watch Video Solution

94. Monocarpellary ovary, diadelphous androecium

and marginal placentation is found in

A. Solanaceae

B. Cruciferae

C. Fabaceae/Leguninosae


https://dl.doubtnut.com/l/_0XFFOeKaONu6
https://dl.doubtnut.com/l/_xL4ol8pnpZFX

Answer: C

° Watch Video Solution

95. Syngenesious condition is found in

A. Asteraceae

B. Labiatae

C. Solanaceae

D. Fabaceae

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xL4ol8pnpZFX
https://dl.doubtnut.com/l/_ZfgXAKzRE2kc

96. Pappus in modification of

A. Bracts

B. Bracteoles

C. Corolla.

D. Calyx.

Answer: D

0 Watch Video Solution

97. Axile placentation is found in


https://dl.doubtnut.com/l/_ZfgXAKzRE2kc
https://dl.doubtnut.com/l/_sHAYXjtJEQGM
https://dl.doubtnut.com/l/_7B0njcTah83w

A. Pea

B. China Rose

C. Radish

D. Sunflower

Answer: C

o Watch Video Solution

98. What is the meaning of epipetalous condition? In

which flower and family is it found?

A. Placentation


https://dl.doubtnut.com/l/_7B0njcTah83w
https://dl.doubtnut.com/l/_g0w49PiX8UlO

B. Stamens

C. Position of overy

D. Aestivation of petals

Answer: B

o Watch Video Solution

99. In a multilocular ovary, ovules are borne on the

entire inner surface. or the periphery. Placentation is

A. Superficial

B. Marginal


https://dl.doubtnut.com/l/_g0w49PiX8UlO
https://dl.doubtnut.com/l/_IW3VvO5E513o

C. Parietal

D. Axile.

Answer: A

o Watch Video Solution

100. Ligulate/strap-shaped corolla

Sunflower in

A. Disc florets

B. Immature florets

C. Ray florets

occurs

in


https://dl.doubtnut.com/l/_IW3VvO5E513o
https://dl.doubtnut.com/l/_70BVKN2psZXC

D. Both ray and disc florets.

Answer: C

° Watch Video Solution

101. Structure equivalent to perianth is

A. Superior palea

B. Inferior palea

C. Glumes

D. Lodicules.

Answer: D


https://dl.doubtnut.com/l/_70BVKN2psZXC
https://dl.doubtnut.com/l/_blhY0quu08kO

° Watch Video Solution

102. Long silky hairs coming out of the cob of maize

are

A. Meant for fruit dispersal

B. Meant for attracting insects

C. Meant for protecting seeds

D. Long styles and stigmas.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_blhY0quu08kO
https://dl.doubtnut.com/l/_c1Z3GwWrVq7C
https://dl.doubtnut.com/l/_6EdrmEsbi693

103. Stamens with free anthers but filaments fused

into a number of groups are

A. Polyadelphous

B. Diadelphous

C. Monadelphous

D. Syngenesious

Answer: A

° Watch Video Solution

104. Diadelphous (9 +1) stamens occur in



https://dl.doubtnut.com/l/_6EdrmEsbi693
https://dl.doubtnut.com/l/_yPbiC9bs4m3X

A. Gramineae

B. Cucurbitaceae

C. Papilionatae

D. Malvaceae

Answer: C

o Watch Video Solution

105. In Maize, the flowers are

A. Absent

B. Unisexual but on different plants


https://dl.doubtnut.com/l/_yPbiC9bs4m3X
https://dl.doubtnut.com/l/_5V7scNaVlqvq

C. Bisexual

D. Unisexual but on the same plant

Answer: D

o Watch Video Solution

106. Thalamus is

A. Base of flower

B. Base of overy

C. Modification of pollen

D. Modification of petal.


https://dl.doubtnut.com/l/_5V7scNaVlqvq
https://dl.doubtnut.com/l/_pB4btuuObOfP

Answer: A

° Watch Video Solution

107. Synandrous condition is found in

A. Filaments only

B. Both filaments and anthers

C. Anthers only

D. Petals

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pB4btuuObOfP
https://dl.doubtnut.com/l/_monIisa5wfJG

108. A characteristic is angiosperms is

A. Flower

B. Root

C. Seed

D. All the above.

Answer: A

0 Watch Video Solution

109. Half inferior ovary occurs in the flowers of


https://dl.doubtnut.com/l/_monIisa5wfJG
https://dl.doubtnut.com/l/_6k1t18voSVsU
https://dl.doubtnut.com/l/_gwuFQP5YZLV4

A. Cruciferae

B. Compositae

C. Malvaceaa

D. Ranunculaceae.

Answer: B

o Watch Video Solution

110. Monadelphous androecium occurs in

A. china rose

B. Althaea


https://dl.doubtnut.com/l/_gwuFQP5YZLV4
https://dl.doubtnut.com/l/_z9uAWxKS3OwM

C. Pea

D.Bothaandb

Answer: B

o Watch Video Solution

111. Versatile anther is attached to filament

A. At top firmly

B. At base firmly

C. Throoughout length


https://dl.doubtnut.com/l/_z9uAWxKS3OwM
https://dl.doubtnut.com/l/_e6jzgKlTBfiq

D. About middle of connective allowing free

movement. (B.H.U.1992, 1995)

Answer: D

° Watch Video Solution

112. An aspect of flower shown in floral formula but

not in floral diagrams

A. Position of ovary

B. Floral symmetry

C. Aestivation


https://dl.doubtnut.com/l/_e6jzgKlTBfiq
https://dl.doubtnut.com/l/_mnLAGFDhArEj

D. Cohesion of floral parts .

Answer: A

° Watch Video Solution

113. When the filament runs along the back of anther,

it is called

A. Adnate

B. Dorsifixed

C. Basifixed

D. Versatile


https://dl.doubtnut.com/l/_mnLAGFDhArEj
https://dl.doubtnut.com/l/_4Nes1BbNwAuI

Answer: A

° Watch Video Solution

114. The colour of Bougainvillea flower is due to the

colour of its

A. Cocolla

B. Calyx

C. Bracts

D. Androecium

Answer: C



https://dl.doubtnut.com/l/_4Nes1BbNwAuI
https://dl.doubtnut.com/l/_YBcxfv40FDBu

| ¥ Vvatch video Solution

115. Nonessential parts of flowers are

A. Sepals and petals

B. Sepals ans carpels

C. Sepals and gynoecium

D. Androecium and gynoecium

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_YBcxfv40FDBu
https://dl.doubtnut.com/l/_Tx5f29PRZbd5

116. Two minute scales or lodicules occur in

A. Citrus medica

B. Triticum aestivum

C. Helianthus annuus

D. Gossypium herbaceum.

Answer: B

0 Watch Video Solution

117. Tetradynamous condition is found in


https://dl.doubtnut.com/l/_LWBFjlN5ktYQ
https://dl.doubtnut.com/l/_GKqZ7I5ykPq8

A. Papilionaceae/Pea

B. Cruciferae/Mustard/ Brassicaceae

C. Solanaceae/Tomato

D. Malvaceae/cotton.

Answer: B

° Watch Video Solution

118. Vexillary type of petal arrangemant occurs in

A. Maize

B. Cururbita


https://dl.doubtnut.com/l/_GKqZ7I5ykPq8
https://dl.doubtnut.com/l/_eKbHsGFcbhR0

C. Mustard

D. Pea/Crotalaria

Answer: D

° Watch Video Solution

119. The type of placentation in which ovary is

syncarpous unilocular and ovules on sutures is called

A. Apical placentation

B. Parietal placentation

C. Marginal placentation


https://dl.doubtnut.com/l/_eKbHsGFcbhR0
https://dl.doubtnut.com/l/_3F68h2xkXRvJ

D. Superficial placentaton

Answer: B

° Watch Video Solution

120. Aestivation in which members of a whorl lie close

but do not overlap is

A. Vexillary

B. Valvate

C. Imbricate

D. Twisted


https://dl.doubtnut.com/l/_3F68h2xkXRvJ
https://dl.doubtnut.com/l/_cChkFKEMsQqn

Answer: B

° Watch Video Solution

121. Monothecous anthers are found in :

A. Hibiscus rosa- sinensis/Malvaceae

B. Allium cape/Liliaceae

C. Brassica oleracea/Crucifarae

D. Solanum nigrum/Solanaceae

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cChkFKEMsQqn
https://dl.doubtnut.com/l/_3XwNjxXjWMMB

122. Arrangement of floral members which are partly

spiral and partly in whorl is

A. Cyclic

B. Acyclic

C. Harmicyclic

D. Pentacyclic.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3XwNjxXjWMMB
https://dl.doubtnut.com/l/_U9Ivy0bJOigG

123. Flower of Hibiscus is

A. Actinomorphic and epigynous

B. Actinomorphic and hypogynous

C. Zygomorphic and hypogynous

D. Zygomorphic and epigynous

Answer: B

° Watch Video Solution

124. Long filamentous threads protruding at the end

of a young cob of maize are


https://dl.doubtnut.com/l/_V2Y6q2wt48IN
https://dl.doubtnut.com/l/_CpwdZuYR4rAg

A. Seed hairs

B. Modified hairs of bracts

C. Styles

D. Stigmes

Answer: C

o Watch Video Solution

125. Pappus is characteristic of family

A. Asteraceae/ Compositae

B. Papaveraceae


https://dl.doubtnut.com/l/_CpwdZuYR4rAg
https://dl.doubtnut.com/l/_QnTYX21IHG88

C. Papilionaceae/ Fabaceae

D. Malvaceae

Answer: A

° Watch Video Solution

126. In many cultivated ornamental flowers, number

of petal whorls is higher than the one in wild type.

Extra petals are generally modified

A. Sepals

B. Petals

C. Stamens


https://dl.doubtnut.com/l/_QnTYX21IHG88
https://dl.doubtnut.com/l/_Lcu3OyrdZGO7

D. Pistils

Answer: C

° Watch Video Solution

127. Ligulate corolla found in compositae is

A. Wheel-shaped

B. Strap-shaped

C. Masked

D. Two-llipped

Answer: B


https://dl.doubtnut.com/l/_Lcu3OyrdZGO7
https://dl.doubtnut.com/l/_yMTrMFIxBqxm

° Watch Video Solution

128. A plant has a butterfly shaped flower with one

standerd,two wing like and two keel petals. The

plants belongs to the family

A. Compositae

B. Rubiaceae

C. Malvaceae

D. Cucurbitaceae

Answer: D

0 Watch Video Solution



https://dl.doubtnut.com/l/_yMTrMFIxBqxm
https://dl.doubtnut.com/l/_FUVxPsYwO5LY

129. Transversely placed syncarpous ovary occurs in

A. Compositae

B. Cruciferae

C. Malvaceae

D. Cucurbitaceae

Answer: B

o Watch Video Solution

130. Anthers are fused and filaments are free in


https://dl.doubtnut.com/l/_FUVxPsYwO5LY
https://dl.doubtnut.com/l/_xmef2e2HxbcW
https://dl.doubtnut.com/l/_jBFBcNVVuzTy

A. Monadelphous

B. Synandrous

C. Syngenesious

D. Epipetalous

Answer: C

o Watch Video Solution

131. Papilionaceous corolla occurs in

A. Brassicaeae

B. Asteraceae


https://dl.doubtnut.com/l/_jBFBcNVVuzTy
https://dl.doubtnut.com/l/_Onqah7Yy4Mmh

C. Fabaceae

D. Poaceae

Answer: C

o Watch Video Solution

132. Stamens of Jowar/Grass are

A. Dorsifixed

B. Versatile

C. Basifixed

D. Adnate


https://dl.doubtnut.com/l/_Onqah7Yy4Mmh
https://dl.doubtnut.com/l/_cDrPM9Fmoqyn

Answer: B

o Watch Video Solution

133. A Flower without nonessential whorls is

A. Monoecious

B. Dioecious

C. Dioecious

D. Achlamydeous

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cDrPM9Fmoqyn
https://dl.doubtnut.com/l/_olmtNy0NI4hg

134. The condition of free petals is called

A. Polypetalous

B. Gamopetalous

C. Polyphyllous

D. Gamophyllous

Answer: A

0 Watch Video Solution

135. Anthers represent


https://dl.doubtnut.com/l/_olmtNy0NI4hg
https://dl.doubtnut.com/l/_kW9rLFOy6Hzl
https://dl.doubtnut.com/l/_ywpZ4QCB0aV8

A. Male gametophytes

B. Male sporophylls

C. Spermatogonia

D. Female gametophytes

Answer: B

o Watch Video Solution

136. Bicarpellary gynoecium with oblique ovary occurs

in

A. Banana


https://dl.doubtnut.com/l/_ywpZ4QCB0aV8
https://dl.doubtnut.com/l/_VTTQQ73P8iGS

B. Brinjal

C. Pisum

D. Mustard

Answer: B

o Watch Video Solution

137. Individual flower are attached to inflorescence

axis by

A. Peduncle

B. Petiole


https://dl.doubtnut.com/l/_VTTQQ73P8iGS
https://dl.doubtnut.com/l/_zEuevDW9xNPn

C. Pedicel

D. Bract

Answer: C

o Watch Video Solution

138. Trimerous flowers occur in

A. Monocots

B. Dicots

C. Gymnosperms

D. All the above.


https://dl.doubtnut.com/l/_zEuevDW9xNPn
https://dl.doubtnut.com/l/_AMJSp9jQOE3N

Answer: A

° Watch Video Solution

139. Which of the following is asymmetrical flower

A. Clitoria

B. Canna

C. Crotalaria

D. Hibiscus

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AMJSp9jQOE3N
https://dl.doubtnut.com/l/_Dqr4C2giGSs5

140. In obdiplostemonous androecium, stamens are

arraged in

A. One whorl alternating with petals

B.Two whorls with outer whorl opposite the

petals

C. Two whorls with outer whorl alternating with

petals

D. One whorls opposite the petals

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Dqr4C2giGSs5
https://dl.doubtnut.com/l/_L4xCRyIuR9Me

141. In Bentham and Hooker's system of classification

the arrangement of three series of polypetalae

reflects evolution from

A. Bisexual to unisexuality

B. Dichlamydeous to monochlamydeous condition

C. Hypogyny to epigyny

D. Apocarpy to syncarpy.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_L4xCRyIuR9Me
https://dl.doubtnut.com/l/_RtgiKPRKkurP
https://dl.doubtnut.com/l/_8rLMY9jkQdB8

142. Petals of a flower are arranged in such a way that

each overlaps a petal on one side and is overlapped

by other petal on the other side. The eastivation is

A. Valvate

B. Quincuncial

C. Imbricate

D. Twisted

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8rLMY9jkQdB8

143. Our of 5 petals of a flower, two are completely
internal, two completely external and remaining one
is internal at one margin and external at the other
margin. Aestivation is

A. Ascending imbricate

B. Vexillary

C. Quincuncial

D. Valvate.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2A34BJs7Ll05
https://dl.doubtnut.com/l/_LuGCq1Zfuwel

144. A flower which can be divided into two equal

halves by only one plane is

A. Zygomorphic

B. Actinomorphic

C. perfect

D. Regular

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LuGCq1Zfuwel

145. The flower shown in the adjacent diagram is

A. Homochlamydeous unisexual and hypogynous

B. Homochlamydeous bisexual and epigynous

C. Dichlamydeous bisexual and hypogynous

D. Heterochlamydeous bisexual and epigynous.

Answer: C

| & |


https://dl.doubtnut.com/l/_Fk4GhjGtEqGP

| &9 Watch Video Solution

146. The individual parts of the perianth are known as

A. Sepals

B. Petals

C. Tepals

D. Bract

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Fk4GhjGtEqGP
https://dl.doubtnut.com/l/_ztVIyIdVvF4J

147. Union of stamens with carpels form a complex

called

A. Gynostegium

B. Syngenesious

C. Gynandrium

D. Synandrous

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Mt0PIGxutFmr

148. The condition of fusion of filaments as well as

anthers is

A. Gynandrous

B. Synandrous

C. Syngenesious

D. Protandrous

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kRZHB6rqMfSE

149. An ovule which becomes curved so that the

nucellus and embryo sac lie at right angle to the

funicle is

A. Anatropous

B. Orthotropous

C. Campylotropous

D. Hemitropous

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8Nu6E47BiRO5

150. Anthesis is a phenomenon which refers to

A. Opening of floral bud

B. Development of anthers

C. Maturtation of anthers

D. Reception of pollen by stigma

Answer: A

0 Watch Video Solution

151. Tetradynamous condition is found in


https://dl.doubtnut.com/l/_oBCpn4v1YEpH
https://dl.doubtnut.com/l/_JouuVDfVFAuH

A. Petunia hybrida

B. Helianthus annuus

C. Brassica campestris

D. Hibiscus rosa sinensis

Answer: C

o Watch Video Solution

152. Flowers having only one set of essential orgens

arre

A. Monoecious


https://dl.doubtnut.com/l/_JouuVDfVFAuH
https://dl.doubtnut.com/l/_1yfuGvJYUK2W

B. Dioecious

C. Bisexual

D. Unisexual

Answer: D

o Watch Video Solution

153. The example for trimerous, unisexual flower is

A. Tamarind

B. Cocos

C. Pea


https://dl.doubtnut.com/l/_1yfuGvJYUK2W
https://dl.doubtnut.com/l/_hsLIHPRxp3vq

D. Hibiscus

Answer: B

° Watch Video Solution

154, Saffron is

A. Stamens of Hibiscus

B. Style and stigma of Crocus plant

C. Roots of Indigofera

D. Petals of Musa

Answer: B


https://dl.doubtnut.com/l/_hsLIHPRxp3vq
https://dl.doubtnut.com/l/_asMospBTYvc9

° Watch Video Solution

155. Gynoecium having three fused carpels with a

single ovule containing chamber is

A. Tricarpellary, syncarpous, unilocular

B. Tricarpellary, polycarpellary, unilocular

C. Tricarpellary, syncarpous, trilocular

D. Tricarpellary, polycarpellary, trilocular .

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_asMospBTYvc9
https://dl.doubtnut.com/l/_yyIKnG9ebK1B
https://dl.doubtnut.com/l/_mgScsRy4L2yt

156. Clove used as spice represents

A. Seed

B. Leaves

C. Flower buds

D. Stem tip

Answer: C

° Watch Video Solution

157. The arrangement of the ovules on the placenta

developed from the central axis of the ovary is called


https://dl.doubtnut.com/l/_mgScsRy4L2yt
https://dl.doubtnut.com/l/_XJx0XzWYkTM9

A. Parietal placentation

B. Basal placentation

C. Marginal placentation

D. Axile placentation

Answer: D

° Watch Video Solution

158. If position of ovary is below sepals petals and

stamens, the flower is called

A. Epigynous


https://dl.doubtnut.com/l/_XJx0XzWYkTM9
https://dl.doubtnut.com/l/_Yxb6d12y5HSm

B. Perigynous

C. Mesogynous

D. Metagynous

Answer: A

o Watch Video Solution

159. Identify the wrong statement

(@) A plant that bears male, female and bisexual
flowers is polygamous

(b) Actinomorphic flower can be dissected into two

equal halves from any plane


https://dl.doubtnut.com/l/_Yxb6d12y5HSm
https://dl.doubtnut.com/l/_Aqy0aj3jI0oK

(c) Superior ovary is found in hypogynous flower

(d) Side of the flower towards the bract is called

posterior side

A. A plant that bears male, female and bisexual

flowers is polygyamous

B. Actinomorphie flower can be dissected into two

equal halves from any plane

C. Superior overy is found in hypogynous flower

D. Side of the flower towards the bract is called

posterior side. (E.AM.C.E.T. 2005)

Answer: D



https://dl.doubtnut.com/l/_Aqy0aj3jI0oK

o Vatch Video Solution ]

160. Compare the columns and find out the correcrt

combination

N N N N N

S R
~—

o

~_ o — ~—

Column I Column IT
Tridax (¢)  synandrous
Dolichos  (4i1) Monadelphous
Ceiba (#47) Syngenedious
Cucurbita (iv) Polyadephous
Diadelphouse

A. (a)-(iv), (b)-(v), (c)ii), (d)-(i)

B. (b)-(iii), (b)-(v), (c)-(iv), (d)-(i)

C. (o)(iii), (b)-(v), (c)-(i), (d)-(iv)

D. (d)-(v), (b)iii), (c)(iv), (d)-(ii)


https://dl.doubtnut.com/l/_Aqy0aj3jI0oK
https://dl.doubtnut.com/l/_epvjUNlX3zzE

Answer: B

° Watch Video Solution

161. A flower with five unequal petals has largest
posterior petal , two lateral slighly small petals and
two anterior petals partially fused to form a boat-
shaped structure..

Which is not correct for such a flower ?

A. Descending imbricate aestivation

B. Odd sapal anterior

C. Piston mechanism of pollination


https://dl.doubtnut.com/l/_epvjUNlX3zzE
https://dl.doubtnut.com/l/_PLV3lqDglWMA

D. Many carpels.

Answer: D

° Watch Video Solution

162. Staminal tube comes out of flower in

A. Pisum sativum

B. Casssia fistula

C. Hibiscus

D. Iberis.

Answer: C


https://dl.doubtnut.com/l/_PLV3lqDglWMA
https://dl.doubtnut.com/l/_99K7Z5rXmrNI

° Watch Video Solution

163. Colour of Bougainvillea flower is due to colour of

its

A. Corolla

B. Bracts

C. Calyx

D. Androecium.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_99K7Z5rXmrNI
https://dl.doubtnut.com/l/_aRQWQweJ8sbe
https://dl.doubtnut.com/l/_j4Vvv7dnBOgy

164. When pistillate and bisexual flowers develop on

different plants , the condition is

A. Gynodioeciouos

B. Gymnomnoecious

C. Polygamodioecious

D. Polygamonoecious.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_j4Vvv7dnBOgy

165. Non-essential  floral organs  without

differentiation of calyx and corolla are called

A. Thalamus

B. Pedicel

C. Perianth

D. Lodicules.

Answer: C

o Watch Video Solution

166. Epicalyx occurs in


https://dl.doubtnut.com/l/_Z1xQtJap0aHq
https://dl.doubtnut.com/l/_xl8xjZDtvLfk

A. Cycas

B. Jower

C. Nephrolepis

D. China Rose.

Answer: D

o Watch Video Solution

167. The correct sequence of types of corolla in the

following figures is


https://dl.doubtnut.com/l/_xl8xjZDtvLfk
https://dl.doubtnut.com/l/_bP0G32WQMHC3

(A) (B)

(€ (D) (E)

A. a-caryophyllaceous, b-papilionaceous, C-

bilabiate, d-tubular, e-bell shaped

B. a-bilabiate, b-papilionaceous, C-

caryophyllaceous, d-bell shaped, e-tubular

C. a-caryophyllaceous, b-bilabiate, c-tuber, d-bell

shaped, e-carryophyllaceous


https://dl.doubtnut.com/l/_bP0G32WQMHC3

D. a-caryophyllaceous, -b-bilabiate,

papilionaceous, d-tublar, e-bell shaped

Answer: A

° Watch Video Solution

168. In guava, cucurbits flowers are

A. Hypogynous

B. Epipetalous

C. Perigynous

D.Both Aand B


https://dl.doubtnut.com/l/_bP0G32WQMHC3
https://dl.doubtnut.com/l/_pC2XRiKLZhJV

Answer: B

° Watch Video Solution

169. Synandrous condition is found in

A. Sunflower

B. Gourd

C. Pea

D. Lemon

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pC2XRiKLZhJV
https://dl.doubtnut.com/l/_ODAgp21cCHOH

170. Floral bud is covered by

A. Petals

B. Anthers

C. Sepals

D. Stigma

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ODAgp21cCHOH
https://dl.doubtnut.com/l/_Wl2c2s5YKOFp

171. Ovarian parts are fused , styles and stigmas free

but ovary part is unilocular with free central

placentation. The plant is

A. Michelia

B. Nymphaea

C. Abutilon

D. Dianthus

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yNfa7CRvKRCE

172. False septum is present in the ovary of flower of

A. Mustard

B. Pea

C. Sunflower

D. Lemon

Answer: A

0 Watch Video Solution

173. In a plant , androecium has monadelphous

stamens , monothecous reniform anthers , and


https://dl.doubtnut.com/l/_u4FansoXcl05
https://dl.doubtnut.com/l/_L1RWxmFdjIrr

contorted corolla . It is

A. Nerium

B. Rauwolfia

C. Hibiscus

D. Lathyrus.

Answer: C

o Watch Video Solution

174. Pollinia is found in which of the following plant

family


https://dl.doubtnut.com/l/_L1RWxmFdjIrr
https://dl.doubtnut.com/l/_6PFHqo8EhLy4

A. Cruciferae

B. Asteraceae

C. Poaceae

D. Asclepiadaceae.

Answer: D

o Watch Video Solution

175. Ochreate stipules occur in

A. Leguminosae

B. Polygonaceae


https://dl.doubtnut.com/l/_6PFHqo8EhLy4
https://dl.doubtnut.com/l/_f3AawhjU41kD

C. Acenthaceae

D. Malvaceae

Answer: B

o Watch Video Solution

176. Ovules occur along the ventral suture over a

ridge in two rows in placentation

A. Marginal

B. Parietal

C. Axile


https://dl.doubtnut.com/l/_f3AawhjU41kD
https://dl.doubtnut.com/l/_ijsWYQzIe49l

D. Free central.

Answer: A

° Watch Video Solution

177. Placentation found in argemone is

A. Axile

B. Basal

C. Parietal

D. Free central.

Answer: D


https://dl.doubtnut.com/l/_ijsWYQzIe49l
https://dl.doubtnut.com/l/_n4F11nd9vfav

° Watch Video Solution

178. When the other floral parts are arranged at the

base of the gynoecium, the flower is called

A. Epigynous

B. Hypogynous

C. Agynous

D. Perigynous

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_n4F11nd9vfav
https://dl.doubtnut.com/l/_osLJyicDOm4q
https://dl.doubtnut.com/l/_PUc5KLcWo302

179. An example of axile placentation is

A. Marigold

B. Dianthus

C. Lemon

D. Agyemone

Answer: C

° Watch Video Solution

180. Which one of the following

monoecious?

plants

is


https://dl.doubtnut.com/l/_PUc5KLcWo302
https://dl.doubtnut.com/l/_QbAeyC9KS0CW

A. Marchantia

B. Pinus

C. Cycas

D. Papaya

Answer: B

o Watch Video Solution

181. Consider the following statements
(A) In raceme inflorescence the flowers are borne in a

basipetal order


https://dl.doubtnut.com/l/_QbAeyC9KS0CW
https://dl.doubtnut.com/l/_KhHRhlamll06

(B) Epigynous flowers are seen in rose plant

(C) In brinjl the ovary is superior of these statements

A.a and b are ture but c is false

B.a and c are ture but b is false

C.a and b are false but c is true

D.b and c are true but a is false

Answer: C

O Watch Video Solution

182. The ovary in hypogynous flowers is said to be


https://dl.doubtnut.com/l/_KhHRhlamll06
https://dl.doubtnut.com/l/_O8twucR0lqbB

A. Half-inferior

B. Inferior

C. Superior

D. None of above.

Answer: C

o Watch Video Solution

183. Aestivation found in pea flowers is

A. Twisted

B. Valvate


https://dl.doubtnut.com/l/_O8twucR0lqbB
https://dl.doubtnut.com/l/_ABb2CTvbEByI

C. Imbricate

D. Vexillary

Answer: D

° Watch Video Solution

184. Which one of the following represents an ovule
where the embryo sac becomes horseshoe-shaped
and the funiculus and micropyle are close to each

other?

A. Orthotropous ovule

B. Heritropous ovule


https://dl.doubtnut.com/l/_ABb2CTvbEByI
https://dl.doubtnut.com/l/_5R1O95sARKLw

C. Amphitropous ovule

D. Circinotropous ovule.

Answer: C

o Watch Video Solution

185. Which of these is an example for zygomorphic

flower with inbricate aestivation ?

A. Canna

B. Cassia

C. Cucumber


https://dl.doubtnut.com/l/_5R1O95sARKLw
https://dl.doubtnut.com/l/_PjHgODMedbCW

D. Catotropis

Answer: B

° Watch Video Solution

186. In the diagram of types of placentation a, b, ¢

and d

represent


https://dl.doubtnut.com/l/_PjHgODMedbCW
https://dl.doubtnut.com/l/_4IPhS2YcjT3v

A. Basal, axile, parietal and free central

B. Free central, Parietal, basel and axile

C. Axile, basal, parietal and free central

D. Parietal, axile free,central and basal

Answer: C



https://dl.doubtnut.com/l/_4IPhS2YcjT3v

l & Watch Video Solution

187. Gynandrous condition means

A. Adhesion of stamens and carpels

B. Cohesion of stamens

C. Stamens united by filaments

D. Free stamens.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4IPhS2YcjT3v
https://dl.doubtnut.com/l/_2erj5EIW8Bnd

188. Feathery stigma is called

A. Plumose

B. Spur

C. Stylopodium

D. Calyculus .

Answer: A

0 Watch Video Solution

189. The expression "gynoecium is

implies that

apocarpous”


https://dl.doubtnut.com/l/_d4F6zwADSC1K
https://dl.doubtnut.com/l/_Vyk4gCHUHC9l

A. Gynoecium comprises only one pistil which is

fused with the stamens

B. Gynoecium comprises more than one carpel, all

of which are free

C. Gynoecium comprises more than one carpel

which are fused

D. Gynoecium comprises only one carpel which is

free

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Vyk4gCHUHC9l
https://dl.doubtnut.com/l/_YEdpT4tOgqie

190. In a unilocular ovary with a single ovule , the

placentation is

A. Basal

B. Free central

C. Axile

D. Marginal

Answer: A

° Watch Video Solution

191. the ovary is half inferior in:


https://dl.doubtnut.com/l/_YEdpT4tOgqie
https://dl.doubtnut.com/l/_PH9nFXW9Yzg0

A. Plum/Peach

B. Brinjal

C. Axile

D. Marginal

Answer: A

o Watch Video Solution

192. The technical term used for the androecium in a

flower of China rose (Hibiscus rosa sinensis ) is

A. Diadelphous


https://dl.doubtnut.com/l/_PH9nFXW9Yzg0
https://dl.doubtnut.com/l/_bUr6FnOa1tmN

B. Polyandrous

C. Polyadelphous

D. Monadelphous .

Answer: D

o Watch Video Solution

193. The following diagrams A, B, C, D and E show the
different types of arrangement of stamens based on
the cohesion of their part in different plants. Assign

the stamens to their respective plants. Choose the


https://dl.doubtnut.com/l/_bUr6FnOa1tmN
https://dl.doubtnut.com/l/_2XyWVsG7tCCt

correct answer

C

Mondelphous Polydelphous Synandrous

Diadelphous Syngenesious

A. a-Hibiscus rosa-sinensis, b-Helianthus annuus, c-

Cucurbita prpo, d-Crotalaria juncea, e-Bombyx

ceibe

B. a-Hibiscus rosa-sinenssis, b-Bombyxbita pepo, e-

Helianthus annuus


https://dl.doubtnut.com/l/_2XyWVsG7tCCt

C.a-Hibiscus rosa-sinensis, b-Bombyxceiba, c-

Helianthus annuus, d-Cucurbita pepo, e-

Crotalaria jucea

D. a-Hibiscus rosa-sinensis, b-Crotalaria juncea, c-

Bombyx ceiba , d-Helianthus annuus , e-

Cucurbita pepo

Answer: D

° Watch Video Solution

194. Aestivation of petals in the flower of lady finger

is correctly shown in


https://dl.doubtnut.com/l/_2XyWVsG7tCCt
https://dl.doubtnut.com/l/_V8POts8N8CNe

N\
-
A. """

o)
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_

©) < )

C. N—

@(\ )

Answer: D

° Watch Video Solution

195. Thalamus of hypogynous ovary is


https://dl.doubtnut.com/l/_V8POts8N8CNe
https://dl.doubtnut.com/l/_mMS9BfHZjXgN

A. Convex

B. Concave

C. Flat

D. Partly cup-shaped

Answer: A

o Watch Video Solution

196. The ovule in which the funicle, chalaza and

micropyle lie in one vetical plane, is called

A. Anatropous


https://dl.doubtnut.com/l/_mMS9BfHZjXgN
https://dl.doubtnut.com/l/_AbuvrMU7xQDw

B. Orthotropous

C. Amphitropous

D. Campylotropous.

Answer: B

o Watch Video Solution

197. Cup-like structue developed from adnation of

sepals, patals and stamens is

A. Cyathium

B. Hypanthodium


https://dl.doubtnut.com/l/_AbuvrMU7xQDw
https://dl.doubtnut.com/l/_g0ZAc4goAIv9

C. Hypanthium

D. Capitulum.

Answer: C

o Watch Video Solution

198. The plant having monodelphous stamens and

axile placentation is

A. China Rose

B. Pea

C. Cucumber


https://dl.doubtnut.com/l/_g0ZAc4goAIv9
https://dl.doubtnut.com/l/_bb1lGdOrt5f3

D. Lemon

Answer: A

° Watch Video Solution

199. Match column | with column Il and select the

correct option from given codes.

Column I Column IT

A. Marginal (i) Sunflower, marigold

B. parietal (ii) Pea

C Axile (iii) Mustard,Argemone
D. Freecentral  (iv) Hibiscus,Argemone
E. Basal (v) Dianthus, Primorse

A. a-p, b-q, cr,d-s, e-t


https://dl.doubtnut.com/l/_bb1lGdOrt5f3
https://dl.doubtnut.com/l/_ukIKbxwXnpBz

B. a-s, b-p, c-t, d-r, e-q

C.a-q, b, c-s,d-t, ep

D. a-t, b-s, c-r, d-t, e-p

Answer: B

o Watch Video Solution

200. Identify the correct aestivations

\/Q N)

(b) (C)

A. a-valvate, b-twisted , c-vexillary, d-imbricate


https://dl.doubtnut.com/l/_ukIKbxwXnpBz
https://dl.doubtnut.com/l/_ZQnpHu99kGkH

B. a-valvate, b-twisted , cimbricate, d-vexillary

C. a-valvate, b-vexillary, c-twisted, d-imbricate

D. a-valvate, b-imbricate, c-twisted, d-valvate

Answer: B

o Watch Video Solution

201. Which is correct

A. Placentation in Primrose is basal

B. Flower is a modified shoot

C. Tomato fruit is capsule


https://dl.doubtnut.com/l/_ZQnpHu99kGkH
https://dl.doubtnut.com/l/_j5PgEkNEmxyO

D. Orchid seeds have oil rich endosperm.

Answer: B

° Watch Video Solution

202. Flowers are zygomorphic in

A. Mustard

B. Tomato

C. Goldmohar

D. Datura.

Answer: C


https://dl.doubtnut.com/l/_j5PgEkNEmxyO
https://dl.doubtnut.com/l/_iIjL94NTZ4lq

° Watch Video Solution

203. Which one of the following diagrams represent

the placentation in Dianthus?

(D)



https://dl.doubtnut.com/l/_iIjL94NTZ4lq
https://dl.doubtnut.com/l/_M92liAow2Q3w

Answer: D

° Watch Video Solution

204. Epigynous flowers occur is

A. Mustard

B. Brinjal

C. Cucumber

D. China Rose.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_M92liAow2Q3w
https://dl.doubtnut.com/l/_eVzOj9sPqTq1

205. In Dianthus, placentation is

(a) Basal

(b) Marginal

(c) Axile

(d) Free central

A. Basal

B. Marginal

C. Axile

D. Free central.

Answer: D

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_eVzOj9sPqTq1
https://dl.doubtnut.com/l/_NwNybVymvkLN

206. The term keel is used for

A. Carpels

B. Stamens

C. Petals

D. Sepals

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NwNybVymvkLN
https://dl.doubtnut.com/l/_RwSOKpLUnORE

207. Polyadelphous stamens occur in

(a) Lemon

(b) Gram

(c) Sunflower

(D) Cotton

A. Lemon

B. Gram

C. Sunflower

D. Cotton

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MtS4uXLkgbbC

208. Flowers are zygomorphic in

A. Radish

B. Lily

C. Mustard

D. Candytuft

Answer: D

o Watch Video Solution

209. The Replum is present in the ovary of flower of


https://dl.doubtnut.com/l/_MtS4uXLkgbbC
https://dl.doubtnut.com/l/_17wvIRDTM11J
https://dl.doubtnut.com/l/_WEaO5PRsUC6S

A. Malvaceae

B. Brassicaseae

C. Asteraceae

D. Liliaceae

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WEaO5PRsUC6S

210. |dentify figures a,b,c,d and e

A. Marginal, Axile, Free Central , Perietal, Basal

B. Marginal, Perietal, Free Central, Axile, Basal

C. Marginal, Axile, Perietal, Free Central, Basal

D. Marginal, Axile, perietal, Basal,Free Central.


https://dl.doubtnut.com/l/_nVMnslOR1ZXk

Answer: C

° Watch Video Solution

211. Plac-entation in tomato and lemon is

A. Perietal

B. Marginal

C. Free central

D. Axile

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_nVMnslOR1ZXk
https://dl.doubtnut.com/l/_7JCg8It7VTAv

212. The gynoecium consists of many free pistils in

flowers of

A. Aloe

B. Tomato

C. Pepever

D. Michelia

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7JCg8It7VTAv
https://dl.doubtnut.com/l/_6uJ9XusrHNSZ

213. How many plants in the list given below have
marginal placentation ?
Mustard, Gram, Tulip, Asparagus, Arhar, Sun hemp,
Chilli, Colchicine, Onion, Moong, Pea, Tobacco, Lupin
A. Four
B. Five

C. Six

D. Three

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rvSrvceM5rIN
https://dl.doubtnut.com/l/_BezIi4UTeuez

214. Thalamus grows to enclose ovary and other

parts arise above the ovary in condition

A. Hypogynous

B. Perigynous

C. Epigynous

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BezIi4UTeuez

215. When placenta forms a ridge along the ventral
suture of the ovary and the ovules are borne on this
ridge forming two rows, the placentation is termed
as

A. Marginal

B. Perietal

C. Axile

D. Basal

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_AFLxmMr9ut3a
https://dl.doubtnut.com/l/_msPLqofbx6hP

216. A staminode does not contain

A. Anther Fillament

B. Male gametes

C. Pollen grains

Answer: D

° Watch Video Solution

217. What is true of Canna flowers

A. Irregular and bilateral symmetry


https://dl.doubtnut.com/l/_msPLqofbx6hP
https://dl.doubtnut.com/l/_RXh3fkpqJTNk

B. Irregular and zygomorphic

C.Irregular and radial symmetric

D. Irregular and asymmetric

Answer: D

o Watch Video Solution

218. Find out the pairs which are correctly, matched
with respect to aestivation of petals
| ,Valvate-Calotropis

Il. Twisted-Bean


https://dl.doubtnut.com/l/_RXh3fkpqJTNk
https://dl.doubtnut.com/l/_92W7kvgNKkeo

lll. Imbricate-Cassia

IV. Vexillary-China rose

A.ii and iv

B.z and ii

C.7 and iii

D.iii and iv

Answer: C

° Watch Video Solution

219. Find the correctly matched pair


https://dl.doubtnut.com/l/_92W7kvgNKkeo
https://dl.doubtnut.com/l/_JfbPVRhFwSCy

A. Basal- Marigold

B. Free central- Argemone

C. Parietal-Primrose

D. Axile-Pea

Answer: A

o Watch Video Solution

220. The Whorl in flower that attracts insects and

protects the essential parts is

A. Androecium


https://dl.doubtnut.com/l/_JfbPVRhFwSCy
https://dl.doubtnut.com/l/_CDSuCbXu5e8M

B. Corolla

C. Gynoecium

D. Calyx.

Answer: B

o Watch Video Solution

221. On the basis of position of the ovary, mustard

plants are

A. Zygomorphic

B. Epigynous


https://dl.doubtnut.com/l/_CDSuCbXu5e8M
https://dl.doubtnut.com/l/_J1zfqd6NyuId

C. Perigynous

D. Hypogynous.

Answer: D

o Watch Video Solution

222. Aestivation in the flower of Calotropis is

A. Twisted

B. Imbricate

C. Valvate

D. Vexillary


https://dl.doubtnut.com/l/_J1zfqd6NyuId
https://dl.doubtnut.com/l/_6IJYmNOAkDdI

Answer: C

° Watch Video Solution

223. Which one is correctly matched with its three

characteristics

A. Pea-C (3), endospermic seed,vaxillary

aestivation

B. Tomato-twished aestivation, axile placentation,

berry

C. Onion-Bulb, imbricate aestivation,axile

placentation


https://dl.doubtnut.com/l/_6IJYmNOAkDdI
https://dl.doubtnut.com/l/_u5ng2riV6RpV

D. Maiza-C (3) pathway, closed vascular bundles,

scutellum.

Answer: C

° Watch Video Solution

224. |dentfy the correct sequence of plants in the
order of characters gives below I. Oveles borne along
the ventral suture of unilocular overy Il. Overes
develop all around the inner surface of septa in a
multilocular overy lll. Overes borne on the inner walls

of overy with false septum/septa


https://dl.doubtnut.com/l/_u5ng2riV6RpV
https://dl.doubtnut.com/l/_o9hw9NZCKhwX

A. Helianthus, Brassica, Cucurbita

B. Thespesia, Nymphare, Brassica

C. Abrus, Nymphare, Brassica

Answer: C

o Watch Video Solution

225. A student observed four plants (a, b, ¢, d,). The
number of stamens in a equal to those of b. Flower ¢
has ten stamens in but its bundle possesses three

times the stamens of inner whorl of a. In d the


https://dl.doubtnut.com/l/_o9hw9NZCKhwX
https://dl.doubtnut.com/l/_YrQIqfBSYz4x

number of stamens is equal to those present in inner
whorl of b. Identify the flower.
(1) Brassica,Tephrosia, Allium, Ocimum
(2) Tephrosia, Ocimum,Brassica, Allium
(3) Taphrosia, Allium, Ocimum, Brassica
(4) Allium, Brassica, Tephrosia, Ocimum
A. Brassica,Tephrosia, Allium, Ocimum
B. Tephrosia, Ocimum,Brassica, Allium

C. Taphrosia, Allium, Ocimum, Brassica

D. Allium, Brassica, Tephrosia, Ocimum.

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_YrQIqfBSYz4x
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Match

Bicarpellary,unilocular

Bicarpellary,Bilocular

Monocerpellary,unilocular

the

Multicarpellary,Multiocular

(
(
(
(
(

i)

11

N—"

iii)
iv)

v)

lists

II
Hyoscyamus
Ulex
Scilla
Citrus

Capsicum

O Watch Video Solution



https://dl.doubtnut.com/l/_YrQIqfBSYz4x
https://dl.doubtnut.com/l/_rDYVfYoH4jfp

227. The condition in which anthers of all the
stamens of a flower are united while filaments are
free can be seen in

(a) Fabaceae

(b) Asteraceae

(c) Malvaceae

(d) Liliaceae

A. Fabaceae

B. Asteraceae

C. Malvaceae

D. Liliaceae


https://dl.doubtnut.com/l/_rDYVfYoH4jfp
https://dl.doubtnut.com/l/_rR1TQAMJUEod

Answer: B

° Watch Video Solution

228. Among flowers of calotropis, tulip, Sesbania,
Asparagus, Colchicine, Sweet pea, Petunia, Indigofera,
Mustard, Soybean, Tobacco and groundnut how many
plants have corolla with valvate aestivation?

A. Seven

B. Eight

C. Five

D. Six


https://dl.doubtnut.com/l/_rR1TQAMJUEod
https://dl.doubtnut.com/l/_ugrWMHaZ6tes

Answer: A

° Watch Video Solution

229. In china rose the flowers are

A.Zygomorphic,  epigynous  with

aestivation

B. Actinomorphic,hypogynous  with

aestivation

C. Actinomorphc,epigynous with

aestivation

twisted

twished

valvate


https://dl.doubtnut.com/l/_ugrWMHaZ6tes
https://dl.doubtnut.com/l/_kp9S21CYSgXG

D. Zygomorphic, hypogynous with imbricate

aestivation,

Answer: B

° Watch Video Solution

230. Among bitter gourd. Mustard, brinjal, pumpkin,
chinarose, lupin, cucumber, sunnehemp, gram, guava,
bean, chilli, plum,petunia, tomato, rosewithania,
potato, onion, aloe and tulip how many plants have

hypogynous flower

A. Eighteen


https://dl.doubtnut.com/l/_kp9S21CYSgXG
https://dl.doubtnut.com/l/_zSdpDK8UXPOW

B. Six

C.Ten

D. Fifteen

Answer: D

o Watch Video Solution

231. Match the columns and find the correct option

N N N N

I

Marginal Placentation

&L & &

Axile placentation

o

Parietal placentation

Basal placentation

SH
N—"

A. a-iv, b-iii, c-t2

(
(
(
(

i)

1

N—"

iv)

iii)

IT
Sunflower
Mustard

Lemon
Pea


https://dl.doubtnut.com/l/_zSdpDK8UXPOW
https://dl.doubtnut.com/l/_rF7Qcmu9aKDe

B. b-ii, b, c-iii

C. ¢, b-ii, cHiii

D. a-iii, b-ii, ¢

Answer: A

o Watch Video Solution

232. In flowers, margin of thalamus grows

upward enclosing the ovary completely and getting

fused with it.

A. Superior

B. Half superior


https://dl.doubtnut.com/l/_rF7Qcmu9aKDe
https://dl.doubtnut.com/l/_wvWlQDzFBOaC

C. Half inferior

D. Inferior.

Answer: D

° Watch Video Solution

233. When the margins of sepals or petals over- lap

one another without any particular direction, the

condition is termed as

A. Imbricae

B. Twisted

C. Valvate


https://dl.doubtnut.com/l/_wvWlQDzFBOaC
https://dl.doubtnut.com/l/_QE9TYSZU26aM

D. Vexillary

Answer: A

° Watch Video Solution

234. Match the columns and find the correct option

I II

Marginal Placentation (i)  Sunflower

ii Mustard

iii) Lemon

Q
~—

S
~

Axile placentation

o

N— N

Parietal placentation

(
(
(
(

—~ A~~~
S
~—

Basal placentation iv) Pea
A. a-iv, b-iii, c-ii, d-2

B. a-iv, b-iii, c-z, d-ii

C. a-iv, b-z, c-ii, d-iii


https://dl.doubtnut.com/l/_QE9TYSZU26aM
https://dl.doubtnut.com/l/_97GnoZWmCjI4

D. a-iii, b-iv, c-ii, d-2

Answer: A

° Watch Video Solution

235. Among China rose, mustard, brinjal, potato,

guava, cucumber, onion and tulip, how many plants

have superior ovary ?

A. Five

B. Six

C.Three

D. Four


https://dl.doubtnut.com/l/_97GnoZWmCjI4
https://dl.doubtnut.com/l/_WFxi1C02Jtfx

Answer: B

° Watch Video Solution

236. Identify the plant with multilocular ovary

A. Cucumber

B. Cashew

C. China Rose

D. Chilli

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_WFxi1C02Jtfx
https://dl.doubtnut.com/l/_At4nTTUJrKKa

237. Proximal end of the filament of stamen is

attached to the

A. Thalamus or petal

B. Anther

C. Connective

D. Placents

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_At4nTTUJrKKa
https://dl.doubtnut.com/l/_ESWbXJ9n2M7n

238. The standard petal of a papilionaceous co- rolla

is also called

A. Cocona

B. Carina

C. Pappus

D. Vexillum

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RAiwo8IS6GDa

239. Many plants among Indigofera, Sesbania, Salvia,
Allium, Aloe, mustard, groundant,radish,gram and
turnip have stamens with different length in their
flowers

A. Six

B. Three

C. Four

D. Five

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Fgy2dXYZAPOI
https://dl.doubtnut.com/l/_vKJrKDrMHz4d

240. The term polyadelphous is related to

A. Calyx

B. Gynoecium

C. Androecium

D. Corolla

Answer: C

0 Watch Video Solution

241. Radial symmetry is found in the flowers of

A. Cassia


https://dl.doubtnut.com/l/_vKJrKDrMHz4d
https://dl.doubtnut.com/l/_mOrF3NbuRx20

B. Brassica

C. Trifolium

D. Pisum.

Answer: B

o Watch Video Solution

242. Free-central placentation is found in

A. Citrus

B. Dianthus

C. Argenmone


https://dl.doubtnut.com/l/_mOrF3NbuRx20
https://dl.doubtnut.com/l/_pOsve0QQ6UPD

D. Brassica

Answer: A

° Watch Video Solution

243. If flower is modified shoot, Floral organs calyx,

corolla, androecium and gynoecium are

A. Modified stem

B. Modified stem and leaves

C. Modified leaves only

D. Unknown modified organs.


https://dl.doubtnut.com/l/_pOsve0QQ6UPD
https://dl.doubtnut.com/l/_u9ii414Q2wfM

Answer: C

° Watch Video Solution

244, Free-central placentation is found in

A. Dianthus

B. Argemone

C. Primrose

D.Both Aand B

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_u9ii414Q2wfM
https://dl.doubtnut.com/l/_XezNkS8egfq5

245. How many types of corolla are there in petals?

A5

B.10

C.7

D.8

Answer: B

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_XezNkS8egfq5
https://dl.doubtnut.com/l/_AKBGOS6n3bif

246. Arrange the following plants in descending

order based on number of locules in their ovaries : (i)

Anacardium (ii) Citrus (iii) Asparagus (iv) Solanum

A. iv,iii,g,ii

B. 2,iv,iil,ii

C. ii,lil,ivg

D. iii,z,ivii

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AKBGOS6n3bif
https://dl.doubtnut.com/l/_Q1TLcGqcJW9C

247. Which ones are correct combinations
(i) Cymose inflorescence-Epipetalous-Solanum
i) Homochlamydeous-Polyandrous-Allium
iii) Axile placentation-Radial leaves-Smilax
iv) Zygomorphic-Diadelphous-Butea
A 1,iv
B. iii,iv
C. 2,iii

D. ii,iv

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Rhv0BkSPgzmM

248. Tetradynamous condition is found in

A v

B. iii,iv

C. 2,lii

D. ii,iv

Answer: A

o Watch Video Solution

249. Achlamydeous flower occurs in


https://dl.doubtnut.com/l/_Rhv0BkSPgzmM
https://dl.doubtnut.com/l/_0tmvdLjHIlTO
https://dl.doubtnut.com/l/_PTT1wi7BtNFH

A. Sunflower

B. Betal

C. Onion

D. Avena

Answer:

o Watch Video Solution

250. Trioecious condition occurs in

A. Mango

B. Litchi


https://dl.doubtnut.com/l/_PTT1wi7BtNFH
https://dl.doubtnut.com/l/_4zpBX7mJZYq6

C.Silene

D. Coriander

Answer:

° Watch Video Solution

251. Condition in Sunflower is

A. Andromonoecious

B. Polygamous

C. Intersexual

D. Gynomonoecious


https://dl.doubtnut.com/l/_4zpBX7mJZYq6
https://dl.doubtnut.com/l/_X4U6SBfvZEe8

Answer:

° Watch Video Solution

252. Weight of the largest flower of Rafflesia is

A.Tkg

B. 4 kg

C.6 kg

D.10 kg

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_X4U6SBfvZEe8
https://dl.doubtnut.com/l/_QgQrzuqXsstT

253. Involucre is composed of

A. Bracts

B. Extra calyx

C. Bracteoles

D. Scale leaves

Answer:

° Watch Video Solution

254. Gynandrous condition means


https://dl.doubtnut.com/l/_QgQrzuqXsstT
https://dl.doubtnut.com/l/_4sWhJl7wDDFI
https://dl.doubtnut.com/l/_QBzABckYQIih

A. Development of internode between stamen and

pistil

B. presence of both male and female flower

organs

C. Androecium attached to gynoecium

D. Presence of stamens in the centre of flower

Answer: D

° Watch Video Solution

255. Largest stigma occcurs in


https://dl.doubtnut.com/l/_QBzABckYQIih
https://dl.doubtnut.com/l/_aBL8PFB96O9q

A. Ricinus

B. Populus

C. Nelumbo

D. Maize

Answer:

o Watch Video Solution

256. Perianth is bilabiate personate is

A. Antirrhinum

B. Salvia


https://dl.doubtnut.com/l/_aBL8PFB96O9q
https://dl.doubtnut.com/l/_PxVvW74ciftM

C. Peristrophe

D. Ocimum

Answer:

o Watch Video Solution

257. Dehiscence is porous and basal in the anthers of

A. Solanum

B. Cassia

C. Barberry

D. Maize


https://dl.doubtnut.com/l/_PxVvW74ciftM
https://dl.doubtnut.com/l/_YO8QIjtrRgsS

Answer:

° Watch Video Solution

258.in Nymphaea, placentation is

A. Basal

B. Apical

C. Parietal

D. Superficial

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YO8QIjtrRgsS
https://dl.doubtnut.com/l/_8uVaqk8qgg0W



https://dl.doubtnut.com/l/_8uVaqk8qgg0W

